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Unit 1
Lesson 4
A

Nouns:

Z = street

7 2] = street, road

£= = hand

% o] = English

BN A] = taxi

&4 2} = train

S = train/subway station
W 22 A 57 = bus stop
H] & 7] = airplane
A A = bicycle

o} = wife
o}o] = child
o}= =son

=+ = daughter
w3 = husband

Verbs:

2.t} =to come

U]t} = to finish something
&3t} = to dance

2+t} = to know

7t} = to walk

Hl-%-t} =to learn

1453}t = to practice

A 7} 3} = to think

At} = to live

Adjectives:

¥ 3}t} = to be dangerous
Z-A 71T} = to be handsome
ZA8 71t} = to be ugly

¥] 2-3}} = to be tired

o} ] = father E}i;‘r =to Ee dh;ferent
= mother &>t} =to besa
?ﬂjﬁ letter 3L T} = to be delicious
I} = taste A} 7] 21Tk = to be funny, to be fun
A A} = meal T} = to be many, to be a lot of
o}3] = morning & 3531 = to be happy
o} 2] A} = breakfast _
2 = \water Adverbs and Other Words:
AL} = apple 7171 = there
= _ #]7] = there (when farther away)
= = money 212 = now
Passive Verbs: SHA| 5k = but

L} } = to be finished

Common greeting words
I wish I could tell you not to worry about these. Of course, I can tell you “don’t worry
about these,” but | don’t think that will do. When learning a language, everybody wants
to learn these words as soon as possible. | understand that completely, but I have
purposely waited to teach you these types of words. In fact, I still don’t want to show
them to you — but at this point | am sure you are asking yourself “I’ve gotten this far and |
still don’t even know how to say ‘goodbye’ yet!”

In Korean, it is much easier to understand these words/phrases if you also understand
why they are used the way they are. If you can’t memorize them, that is okay. I still
maintain the position that you should put off memorizing these until you can
understand the grammar within them.
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33| 7}Al 2 = Goodbye (said to a person leaving)
133 Al Al 2 = Goodbye (said when you leave)
LA] ¥E3H5 1 T} = Nice to meet you

A &Yt} = Excuse me

] Eshy of/m) kg o} = Sorry

A2 = Please

o] o] Hd] 27 = What is your name?

A o] ol 52 o]t} = My name is

ol t] ol A gko] 2.2 = Where are you from?

A= o] A ¢ko] & =1am from

c‘)l,
c‘)l,
E'_]_—

Now that we have gotten that out of the way, let’s start studying some actual material.

Using Adjectives ~- /<>
Alright, this won’t help you understand those greeting words any better, but what you are
about to learn is a major step in learning Korean. You should remember these two
important facts from the previous lesson:

1. All sentences must end with either a verb or adjective
2. All verbs/adjectives end with the syllable <t}
Although both of those are true (and always will be), let’s look at them more deeply:

All sentences must end with either a verb or adjective
- Yes, but verbs and adjectives can ALSO go elsewhere in a sentence. In the previous
lesson, you learned this sentence:

U= Wl & 93t = 1 want a boat

(U= vlE d3ll /A= vl E dal2)

But what if you want to say: “l want a big boat.” In that sentence, there is a verb and an
adjective. Where should we put the adjective? In Korean when describing a noun, the
adjective is placed in the same position as in English. For example:

U= vl = Y38)th = | want a boat
U= big ¥l & € 3}t} = | want a big boat

Simple. So we just substitute the Korean word for big (ZLt}) into that sentence?:

U= At} a]E 931 = Not correct. Not by a long shot.
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Remember that second rule | taught you?:
All verbs/adjectives end with the syllable T}’

- Yes, but the version of the word with ‘T} as the last syllable is simply the dictionary
form of that word and is rarely used. Every verb/adjective in Korean has a ‘stem,” which

is made up of everything preceding T} in the dictionary form of the word. Let’s look at
some examples:

At} = A (stem) + ©F
2t} = 2} (stem) + T}
=1} = % (stem) + T}
B -$-T} = 8l %~ (stem) + T}

When you deal with a verb/adjective, you eliminate ~t} and add something to the stem.
What you add depends on what you are doing. When you want to make an adjective that
can describe a noun, for example:

small boy

big boat

soft hand

delicious hamburger

you must eliminate ‘~T} and add ~v- or ~< to the stem of the adjective.
Words in which the last syllable of the stem ends in a vowel (Z.tH/H]4}t}H/A1T}) you
add ~1- to the last syllable. For example:

Word Stem | Adjective that can describe a noun Example | Translation
EA= = Z ER Big boat

H] %}t IRV R H] 4 221 | Expensive food
»lch s Rk A Cheap thing

Words in which the last syllable of the stem ends in a consonant (2} tHZtH 2T} you
add ~= to the stem. For example:

Word Stem | Adjective that can describe a noun Example | Translation
2o} E 2Lo Ak 1z} | Small man
=t} = o =2 o}& | Good son

2} - o o = A lot of money

Looking back to what we were trying to write before:

| want a big boat = A= At} 8] & ¥ 3}t} = incorrect
| want a big boat = A = & 8l & 435} t} = correct
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The key to understanding this is being able to understand the difference between the
following:

H] 4T} = The food is expensive
H] é} 5-2] = expensive food

The first example is a sentence. The second example is not a sentence. The second
sentence needs more words in order for it to be a sentence. You need to add either a verb
or adjective that predicates the noun of "expensive food." For example:

U= & 5248 = T} = | eat expensive food
(UH 14 2212 Blo] | 4= H] g &4 S Hojg
The verb "to eat” predicates this sentence.

A= B &4 S Zo}alt) = | like expensive food
(L= v SA1S Folsl] [ A& HRE 24 & Fotsl K)
The verb "to like" predicates this sentence.

H] 2 &2 2 bkl T} = Expensive food is delicious
(914 £4] 2 BEglo] / ul 4k 4] & Bhgle] )
The adjective "to be delicious™ predicates this sentence. Notice that there is no object in
this sentence.

Remember, for the last time - you do not know how to conjugate verbs and adjectives at
the end of a sentence yet. This will be introduced in the next lesson. Because you do not
know how to conjugate verbs/adjectives at the ends of sentences, examples with un-
conjugated forms are presented in this lesson. Remember that these sentences are
technically incorrect, but understanding them is crucial to your understanding of the
Korean sentence structure.

As with the previous three lessons, | have provided conjugated examples below each un-
conjugated example. You will probably not be able to understand these conjugations.)

More examples of using adjectives to describe nouns within a sentence:

L= 22 el 7k} = 1 go to the small house
(th= 2 Foll 7F A= 22 ol 7EL)

= & A= Y3} = 1 want a big car
(U= 2 A5 A8l 1 A= 2 2= dal )

U= 2 A7 G 2E gk} = | meet a handsome man
(VY= 2 GAE v A A GRS 7 R)
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-
(e 2o o) 3 oi/xa‘;mfz o] 0] 2)

U= 5555k A0S ki) o) = | meet a fat student
(U T5s dAS Y/ A 553 S v Q)

In Lessons 1 and 2, | explained that adjectives cannot "act" on objects. Many learners
look at the sentences above and say "Hey! Those sentences have an object and an
adjective!” Adjectives cannot act on an object to predicate a sentence. This means you
cannot use a sentence like this (in either language):

= F S Zt} = | small house

However, | didn't say anything about adjectives and objects being used in the same
sentence. Adjectives can be used to describe an object that is being predicated by a verb.
I will continue to talk about this in the examples below.

In the examples above, notice the difference in function between when an adjective is

used to describe a noun compared to when it is used to predicate a sentence. For example:
+ 22 F el 7} = 1 go to the small house

(He 22 ol 7H A De el 7he)

The verb "to go" predicates this sentence.

71 A& At} = That house is small
(7 R& o}/ 1 F L Folg)
The adjective "to be small" predicates this sentence. Notice that there is no object in this sentence.

A& & 25 Yskth = 1 want a big car
(He 2 A2 da) /A= 2 A5 48 8)
The verb "to want" predicates this sentence.

o] x}i= At} = This car is big
(o] A= A [ o] A= AR)
The adjective "to be big" predicates this sentence. Notice that there is no object in this sentence.

In each of the examples above, even though the adjective always acts as a descriptive
word, in the cases when they are placed before nouns to describe them - those nouns are
able to be placed anywhere in the sentence (for example, as the subject, object, location,
or other places).
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This same thing happens in English, where | can have a simple sentence like this:

S A= 8215 Wt} = The man eats food

o
=
(A S48 o] /3§48 o] 9)
| can use adjectives to describe each noun in the sentence. For example:

3153k of 2} = # ) oF ] 1T} = The happy girl is inside the small car
(BE 3 oA =p= 2h2 2} Qbol] 9lof [ g of 2p= A2 2} Q]| 9lo] 8)

You will see some adjectives that end in "~3%1 TF." The most common of these for a
beginner are:

a9l T} = delicious
A ] AT} = fun, funny

When an adjective ends in “~3] T} like this, instead of attaching ~-/-> to the stem, you
must attach ~< to the stem. For example:

1 G A= A v Q= FAFo] T = that man is a funny man
(2 FAE A s g Abob/ 1Ak AW 9l F Akl 2)

A1 S w T} = | eat delicious food
(L]-:HPOLE gxlg gj—]oi/xib ko) = O}J = mq 0)

- AN M
The difference here is due to what I call the "~ 2" principle. For now, you do not need

to think about why ~= is added instead of ~-/-. It is sufficient at this point to just
memorize it as an exception. The concept behind this grammatical rule is introduced in
Lesson 26 and | continue to discuss it into other Lessons in Unit 2. This concept is related
to verbs being able to describe nouns. For example:

"The man who | met yesterday will go to the park that | want to go to"

However, this is very complex and is the whole basis to the ~= % principle that |
mentioned earlier. As | said, you will begin to learn about this in Lesson 26.
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To be a lot of: 2t}
A good way to practice your understanding of how adjectives can be used to describe a
noun in a sentence or to predicate an entire sentence is to apply your knowledge to the
word "2 t}." ¥} is an adjective that describes that there is "many’ or "a lot" of
something. Its translation to English usually depends on how it is used in a sentence. For
example, when used to describe nouns in a sentence, it can be used in the following way:

=t} = | eat a lot of food

KX
=
(e B 242 2o] [ 4 Be 322 Hojg)

B2 =0 9}\:} = | have a lot of money
] ol 1 AE B =] glolg)

e
Ir
=)

rlo

F%ﬂ

U @2 ol 7) 1t} = | have a lot of wives (ha!)
(W= B2 o7k flof 1 A= B2 o7} 9lol 8)

Now, if we use "2 T}" to predicate a sentence, it can be used like this:
Aol B}
In your Korean studies, you need to realize that it is never effective to think of a Korean

sentence as an exact translation in English. The fact is, Korean and English grammar are
completely different, and trying to force the rules/structure of English into Korean is

unnatural. If we stuck with the translation of "a lot of" for the meaning of "2 }" and
forced the English translation to the sentence "A}&o] T}, we would get:

People are a lot of

.. But that clearly is not accurate. Instead, what is the sentence "A} o] ¥t} describing?
It is describing that there is a lot of something, therefore, the translation should be:

Abgto] Bt} =there is a lot of people
(Aol Wol [ Afsto] HolQ)

Therefore, when &t} predicates a sentence, its translation is usually "There is/are a lot
of...". Here is another example:

S-21o] @} =there is a lot of food
(=2 o] Hol/ &2 o] HolQ)

Of course, this can be applied to very complex sentences as well, but this is just the very
beginning. Eventually, you will be able to make a sentence like:

There are a lot of singers who become famous and spend all of their money too quickly
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This sentence as well would also end in " T}." The structure would basically be:
(singers who become famous and spend all of their money too quickly) 7} 2t}

You are still very far from understanding how complex sentences like that work, but |
want to show you that the content you learned in this lesson brings you one step closer.

Also notice that the particles ©]/7} are attached to the subjects in sentences ending with
"W T}." There are some words where the use of the particles ~©]/7} on the subject of the
sentence is more natural than the use of ~=/=>. 2t} is one of these words. We will

continue to tell you in which situations it is more natural to use ~°]/7} instead of ~2/+=
as we progress through our lessons.

~ Particle .=
~X= is another particle that is very useful in Korean. It has the meaning of “too/as well.”
It can replace the subject particles (==/->) OR the object particles (£/=), depending on
what you are saying “too” with. For example:

A& ghoro]l & Zslt) = | speak Korean as well (In addition to other people)
(UG 3=o] 2 B | A X 3kl S waf 1)

which is different from:

A= 3= o] & @3}t} = | speak Korean as well (in addition to other languages)
(U Sharo]l i e)] [ A & dharol = W) Q)

Make sure you notice the difference between the previous two examples. In English these
two are written the same, but sound different when speaking.

In the first example, you are emphasizing that YOU also speak Korean, in addition to
other people that you are talking about. In the second example, you are emphasizing that
(in addition to other languages), you also speak Korean.

See the two examples below for the same issue:

A= AFE =) = | eat apples as well

(% AV Bo] /A = AFakE Tl )

A= A= =) = | eat apples as well

(He AT o] [ A= AT o] 2)

Notice the difference in pronunciation in English. The first one has the meaning of “other
people eat some apples, but | too eat some apples.”
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The second example has the meaning of “I eat some other food as well, but I also eat
apples.” It is important to recognize that whatever noun "~=" is attached to (the subject
or object) is the thing that is being expressed as "t00."

More examples:
U 2418 ¢t} = | know that, too

(W= 2L ol A RS eofa)

U E= 3] 2231} = | am tired, too
(U= 323 | A= 3] 23 Q)

Lho] w5 8 535l = My daughter is happy, too
(o] & P Eaf /Ao B = Q)
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